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9

TN Revision Mat 1

. What is"3/4 of 367

. Calculate 124 + 358

. A shape has 5 equal sides of 6cm. Find the perimeter.

. What is the mean of 6, 10, 8, 6?

. If 2n = 16, what is n?

. Convert 2.5kg to grams.

. Round 378 to the nearest 10.

Draw a bar chart using the data: Red-5, Blue-7, Green-3.

. A'toy costs £12.75. What is the cost of 3 toys?

10. A jug holds 1.2L. How many 300ml cups can it fill?

[Use the space below to show your working.]
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TN Revision Mat 2

. What is"3/4 of 367

. Calculate 124 + 358

. A shape has 5 equal sides of 6cm. Find the perimeter.

. What is the mean of 6, 10, 8, 6?

. If 2n = 16, what is n?

. Convert 2.5kg to grams.

. Round 378 to the nearest 10.

Draw a bar chart using the data: Red-5, Blue-7, Green-3.

. A'toy costs £12.75. What is the cost of 3 toys?

10. A jug holds 1.2L. How many 300ml cups can it fill?

[Use the space below to show your working.]
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TN Revision Mat 3

. What is"3/4 of 367

. Calculate 124 + 358

. A shape has 5 equal sides of 6cm. Find the perimeter.

. What is the mean of 6, 10, 8, 6?

. If 2n = 16, what is n?

. Convert 2.5kg to grams.

. Round 378 to the nearest 10.

Draw a bar chart using the data: Red-5, Blue-7, Green-3.

. A'toy costs £12.75. What is the cost of 3 toys?

10. A jug holds 1.2L. How many 300ml cups can it fill?

[Use the space below to show your working.]
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TN Revision Mat 4

. What is"3/4 of 367

. Calculate 124 + 358

. A shape has 5 equal sides of 6cm. Find the perimeter.

. What is the mean of 6, 10, 8, 6?

. If 2n = 16, what is n?

. Convert 2.5kg to grams.

. Round 378 to the nearest 10.

Draw a bar chart using the data: Red-5, Blue-7, Green-3.

. A'toy costs £12.75. What is the cost of 3 toys?

10. A jug holds 1.2L. How many 300ml cups can it fill?

[Use the space below to show your working.]
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TN Revision Mat 5

. What is"3/4 of 367

. Calculate 124 + 358

. A shape has 5 equal sides of 6cm. Find the perimeter.

. What is the mean of 6, 10, 8, 6?

. If 2n = 16, what is n?

. Convert 2.5kg to grams.

. Round 378 to the nearest 10.

Draw a bar chart using the data: Red-5, Blue-7, Green-3.

. A'toy costs £12.75. What is the cost of 3 toys?

10. A jug holds 1.2L. How many 300ml cups can it fill?

[Use the space below to show your working.]
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TN Revision Mat 6

. What is"3/4 of 367

. Calculate 124 + 358

. A shape has 5 equal sides of 6cm. Find the perimeter.

. What is the mean of 6, 10, 8, 6?

. If 2n = 16, what is n?

. Convert 2.5kg to grams.

. Round 378 to the nearest 10.

Draw a bar chart using the data: Red-5, Blue-7, Green-3.

. A'toy costs £12.75. What is the cost of 3 toys?

10. A jug holds 1.2L. How many 300ml cups can it fill?

[Use the space below to show your working.]



